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For if you will not say so; a n>>% which half of it, etc.

OVERVIEW

172X " explained the reason the 0190 acquires the entire 777°07 (and not the
2157), 1s because the 0190 has the capability of snatching the entire 77°012 off
the 7117 (and away from the 2127). The X713 rejected this view, claiming that
according to 1728 " if a n°%v is half on the ground and half on a post (and
someone picked up the half from the ground without lifting up the half from
the post), should he acquire the entire n°9v since he can pull it to himself off
the post? Obviously not! The same applies here. mdoIN questions the
‘obviously not!’.

nvoIn asks:
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There is a slight difficulty; how indeed does the X723 know that 728 '

will not contest this as well; y72x " may maintain that in the case of Tnvn 9y m3n,
the one who is able 12¥X %2791 pn1? will indeed be 1y everything. m»oin does not
answer his question.

SUMMARY
There is no source that the one who can snatch it of the post, is not 711p.

THINKING IT OVER

The X713 seems to be asking that according to 72X "1 it will come out that in
a case of MY %Y XM yppn 2v 1°xn then the one who picked it up from the
ypp will be 7211, Seemingly this is exactly what 172X "1 is saying; not merely
what is derived from his words, so what is the X773 asking‘?!2

! See 7"mn who addresses this question as a 72’0 (not merely a p"p).
% See WP "1N.
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